POLSKI ZWIAZEK SZACHOWY 2024
ORYGINALY 13 V111 2024 [3185 - 3190]

3185. Miguel URIS 3186. Steven B. DOWD (USA) 3187. Waldemar TURA
(Hiszpania) & Luis ECHEMENDIA (Kuba) (Polska)
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3188. Marian FRAK 3189. Mykota WASIUCZKO 3190. David GURGENIDZE
(Polska) & Mychajlo GALMA (Ukraina) (Gruzja)
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3 rozwiazania (3+5) h#2* (5+5) = (6+5)

URIS 1..Wd5 a 2.c:d5+ Wc4 b 3.H:g1# B 1.H:f5+? A 1..Wd5 a 2.c:d5+ Wc4 b 3.Hf8# C 1..Gd5! 1.H:g1+?
B 1..Wgd4 2.Scl ~ 3.5d3# 1..Wdd4! 1.Hbl! ~ 2Wb5+ c:b5 3.H:b5# 1...G:c4 2.H:f5+ A Wd5 a 3.Se6# D
1..W:c4 2.H:g1+ B Wd4 3.H:d4#. Defenses on same square. Changed mate. Tries are second move in actual
play. [A]

DOWD & ECHEMENDIA 1.Gh4! d6 2.f5 Ke5 3.Wf2 Kd5 4.Kd7 Kc5 5.Wb2 Kd5.d5 6.Wh5/Ge5# 4...Keb
5.f6 Kd5/d3 6.Wf5/Gg3#. The f-pawn is actually a hindrance for White that must be moved out of the way and
the bishop must also clear squares for the rook. For example if the WP were absent 1. Rc8 would mate in five. [A]
TURA 1.S:f4+? W:f4 3.Hd4+ W:d4+ 3.Ke5? 1.Ga6+? G:a6 3.Hcd+ G:cd+ 3.Kc5? 1.Hb4! ~ 2.Hed+ fied+
3.5e5+ W:e5# 1...c:d6 2.S:f4+ W:f4 3.Hd4+ W:d4# (2.Ga6+? G:ab 3.Hcd+ G:cd+ 4.K:d6?) 1...Sd7 2.Gab+ G:ab
3.Hcd+ G:ca#t (2.5:f4+? W:f4 3.Hd4+ W:d4+ 4.Ke6?). Logiczny samomat realizujacy motyw giving and taking
flights potaczony z samomatowym unikaniek duali. Bardziej ekonomiczna i harmonijna wersja zadania 2 p. The
Problemist, 1994: 2b2n2/1Bp2N2/2PP2p1/2QK4/4p1rl/1Rgk2p1/2p1pR2/b1B5. s#3. Yacpdb 262236.

FRAK 1.Hd1+ G:dl 2.Khl Gf3# 1.Hel Gh3+ 2.Khl W:el# 1.Hgl Gc8 2.Khl G:b7#. Zagorujko 3 x 1 po
2...Kh1.

WASIUCZKO & GALMA 1...Sc3 2.b5 Sc:b5# 1.e4 Kf6 2.e3 f:e3#.

GURGENIDZE 1.Kc2+ Ka2 2.Wal+ K:al 3.Sb3+ Ka2 4.Scl+ (remis pozycyjny nr 1) Kal (4..H:cl+
5.K:cl Kb3 [5...S:b5 6.f7 S:f7 7.S:f7 Kb3 8.Se5 Sd4 9.5d3] 6.b6 Sa6 7.b7=) 5.Sb3+ H:b3+ 6.K:b3 S:b5 7.7
(7.Kc2? Sf5 8.f7 Sfd4+ 9.Kcl [9.Kd3 c2 10.f8H c1H 11.Hf2 Hb1l+ 12.Ke3 Sd6] 9...Se2+ 10.Kc2 Shd4+ 11.Kd3
Se6 12.Kc2 Sf8 i wygrywa) 7...S:f7 8.5:f7 Kbl 9.Sd6 c2 10.S:b5 c1H 11.Sa3+ Kal 12.Sc2+ Kbl 13.Sa3+
remis pozycyjny nr 2..



